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[anatomy]

arteries and veins are found in which layer of the scalp :
a. One

b. Two

c. Three

d. Four

Branch of ansa cervicalis not cutaneous :
C1

The most substantial part of the suspensory apparatus is :
Facial sheath

Which of the following nerves give visceral sensory branch :

Glossopharngyal nerve

Insertion of the orbital part of orbicularis oculi :

Lower border of medial palebral ligament

Which of the following arteries supply the Ala of nose :

Superior labial artery

Supply the mucous membrane of the larynx below the vocal cords, and the mucous
membrane of the upper part of the trachea:

Recurrent laryngeal nerve

Which of the following located in junction :

optic chiasma

Site of optic canal :

In the lesser wing of sphenoid just medial to the superior orbital fissure

The medial wall of vestibule:

forms the bottom of the internal auditory meatus
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[pharmal]

The correct order of these fibers response to local anathesia :

Pain —> sensory —> motor

adverse effect of propranalolol :

Nightmare and insomnia

Case : adverse effect of alpha agonist :

postural hypotension

Case: patient with an allergy of benzocaine ,the best topical analgesic to be used is :
a)Cocain

b) Buvicaine

c) Procaine

d) Tetracain

e) Thiophnel sodium

Paitent present with angioedema and swelling mouth ,you give him the Adrenaline :

*Intramuscularly

To treat open-angle glaucoma we use :

Dipivefrin

Drug used in atropine toxicity:

Pralidoxim

[histo]

All of the following considered epithelial receptors except
a) Free nerve ending

b) Olfactory epithelium

c) Merkle tactile disk

d) Meissner corpuscle

e) Plexus of bonnet
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The layer where the LASIk technique done :

Connective tissue sroma

All of the following aretrue about limbus except :

white color

[biochem]

Which of the following is correct regarding to schiff base bond :

Dissociate immediately

Wrong about the mechanism of olfactory transduction :

influx of cl-

[embryo]
All of the following are drived from the first pharyngeal arch except :
Stapes

All of the following are true except:
Ultimo brachial body drived from first pharyngeal pouch

1- all of the following from inter maxillary segment except :
a. philtrum
b. nasal septum

c. ala of the nose

2- failure of fusion of the maxillary processes with the lateral nasal processes along
the line of the nasolacrimal duct :
Oblique facial cleft




[micro]
2Qs about the characters ofC.tetani :
True : grow on meat broth media

False : it’s non motile

All of the following are characteristic of GBS except :

Produces a narrow zone of alpha hemolysis

All of the following true about polio virus except :

There are Four serotypes

Which of the following virus cause hand foot and mouth disease
Coxakie A

Sandflies are the vectors of :
Rift valley fever

[patho]
(case) : patient with flu-like symptoms:

Guilin barré syndrome

All true about Korsakoff syndrome except:

acute

*stocking and glove pattern causes:

Polyneuropathy

All of the following are neurodegenerative diseases except :

Multiple sclerosis

All true about multiple sclerosis except :
a) female more than male 2:1

b) active phase there is decrease in inflammatory cell and little to no myelin

***¥Q about CIPD :One is wrong?
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[Surgery ]

All of the following Motor somatic Symptoms of polyneuropathy , EXCEPT:
* Weakness

* flaccidity

* Hyporeflexia

* Fasciculations

* hypotrophy

**Secondary action of superior oblique muscle:

Depression,abduction

[physio]
True about chronaxie :

It’s the measure of excitability

[Lab Physio ]

Concerning presbyopia. all are true EXCEPT:

a- It starts earlier in hyperopic patients

b- There is a gradual increase in the amplitude of accommodation

c- There a gradual recession of the near point

d- Lens capsule becomes less elastic and lens nucleus becomes harder

e- Itis treated by convex lenses added to the distance correction

About conductive deafness which is wrong :

Positive rinene test
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